JH
=
=

ViEavh o B2, avh e yx o B v
i=: 9

29

Bt

= ol
pors
fjo Eg

L glo

}
g :

@Vs-5v2 @ vis=6v2 B)svi- VE
@ 8V2=+256  ©® 4V3= V24

&8

@ V50 = V52 x2 =542
@ Vo8 = V72 x2 =72
® 3V7 = V32x7= 63
@ 8V2 = V82 x2 = VI28
®4V3 = V2 x3 = Va8




2. t&udAe dEs] FANA @, Ol ol-8H T4 E7]A]
Zof 2he| = A2 A27

r+2xy+1y’—1
gl
=(x+y+1)(z+ y—l)j

)
W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x+b)

2}) acx? + (ad + be)x + bd = (ax + b)(cx + d)

@b, (+h @ (Wb, Oh ® (h, (h
@ (), (°h ® (7. (=

2 F2xy+y?-1
=(x+y)?-1 - da®>+2ab+b*>=(a+b)? ol &
=(@+y+)(+y-1) - (@®-b*) = (a+b)(a-D)




3.

0<a<l ), Va2 - \/la=1)? & 23] 5117

@ 1
@2(1—1 ® 3

O<a<1Aa>0,a-1<0

Va? - m:a—{—(a—l)}ZZa—l




4. o] AAFO|L 1<n<30 € W, Vin o] AA7t HES sh= n 9]
W45 Fotofet.

dn=22xn 0o|BR

n=22 32 2% 52 22x32%... o] QJt}.
l<n<30&1slgeonzg,

n =22 32 2% 52 47jo|t},




ofdf £2 el A P, Q O HEE A%t a, b2 G W, a+b O]
e

~

Y

A

ol <
|

[\

|

(Y

(@Y ]

—e

NO

w

Ole -~

g ¥o] Zolrt 1 9l AAZg el tidAe] ol 2
AP H{Ea=-1-V2, QY FHHEb=2+V20|B2
a+b=-1-V2+2+V2=1




e F Ya AL S ALY
® 4> V5 +1 @)s3+ V5> V5+ V8
® V2+1>3 @ 3-V2>4-12

® 258
—CB

D4>VI5+144-V15-1=3-V15<0

L 4<AVI5+1

@3+ V5> V5+ VBAlA3+ V65— V65— V8=3-v8>0
L3+ V5> VE+ V8

@ V2+1>3°1H8 V2+1-3=+2-2<0
LoV241<3
@D3-V2>4- V2 3-V2-4+V2=-1<0

L 3-V2<4-142

5VA2 _ V980 - V1050 _

35 35
\/Z \/E
=< =
5 V71

0




® VI3-6 ol st Fe B olck.

@ A A 2 C Atol9] o] AL A Aolet,
® —Vi+5t " o yeha 4 ae,
@) V5 + 10 &3k 722 E o]tk

® V2-121- V2 K} gZo] 9Jx|gt},

|o
s

=

~&B

® VI3 -6 o H33He Fe A olet.
@ A A 9 C Aol Fe] A4 gk,

n
® Rl & o ehd & gl

GVI-121- V3 He} 022 9jxghk,




A8 0] Pol?

D 4V2cm

@7\/5@11

@ 5v2cm
® 8V2cm

B

4v3cm, 5V2cm ¢ F

My
rlo

A2 golel

m
)

® 6vV2cm

73 19| wAlge] Zolg Rolzka o
S = nr? oAl n(43)? + n(5V2)? = nR?
48 450 = R?

. R= 98 = 7\/§cm




9. a btfElSdu /(3-v7) + /(2= V7) = a+ bVTOIA
ab 327




10. a=-V3,b= V54 1, a(a-2b) - 3b* ] 27

D -18-2+5 @ -18+42+15 @—12+2\/E
@ 18-2+/15 ® 18+ 215

a(a —2b) — 3b* = a® - 2ab - 3b*
ab: 5%‘:]1?:}6}%




. BATAS o] L5to] Vi-V3 3+ V5

£ Aurahn?

VE+V3  V3- B

@ -2v15 @ 2v15 ® -8
@Ds ® 8-2v15
B

Vi-V3 V3445

Vo+ V3 V3-15

_ (V5-V3)®  (V3+ VB)?

2 -2

(V5= V3)2 + (V3 + V5)?
2
_5+3-2V15+3+5+2V15
- 2




12, AlFZEAA V2 = 1414 o], o] & o]-835}9] 0.0008 9] #H<

ot
@® 0.2828 @0.02828 ® 0.002828
@ 0.0002828 ® 0.00002828

] 242  2.828
/0. =4/ = = = 0.02828
0.0008 10000 100 100




13. V4 239

V3
@ 1 @ 2 ()3 @ 4 ® 5
B
B 2\/5_92 (2\/§—9)X\/§
+—75 4\/§+—\/§x\/§
6-9V3

=4V3+
=4V3+2-3V3=2+13

kA, 1< V3<20] 3 <2+ V3 <4 0|BR Fote
B2 3ot




14. =AY a+b+c+d+e 2 27

H7]
@ x?+5x-14=(x-2)(x+a)
© 2x% -4x-16 = 2(x + b)(x + 2)
©® (x=c)(x+¢)=x2-16 (¢ > 0)
® -3x2 +30x - 75 = —-3(x + d)?

@ 3x>+8x-3=Bx-1)(x+e)

@ -18 @ -4 @5 @ 13 ® 36

B

Dt +5x-14=x-2)(x+7) a="7

O2x*>-4x-16=2(x-4)(x+2) ~b=-4

© (x-4)(x+4)=x*-16 ~c=4

® -3x2 4+ 30x - 75 = —=3(x® — 10x + 25)
=-3(x-5)2

Sd=-5

@3x?+8x-3=Bx-1)(x+3) .e=3

w2t g =7,b=-4,c=4,d = -5,e =3C0|EZ T-4+4-

5+3=5




15. A2t moko] whe] Wolzh 6x2 + Tx 4+ 2 4 ], o] Ho] £
rd|
=

D 10x+2 @ 10x+4 @10x+6
@ 12x+2 ® 12x+6

@)

6x% +7x+2 = (2x+1)(3x+2) °o]BE2 E&|2] dol=2x (2x+
1+3x+2) =10x+6 °]c}.




16. TR A2+ (~2y-+3)x—(3y-1)(y+2) & Eooto] e A4S
RERCERL

@2x—2y+3 @ 2x-2y+1 ® 2x-3y+3
@ 2x-y+3 ® x-2y+3

B \

24+ (-2y+3)x-(y-1)(y+2)
={x-By-D}{x+(+2)}
=(x-3y+1)(x+y+2)

wrahA] G4 QQ4=0] 2 2x — 2y + 3




17. tee §><82— g x2S AL Tpgolty, o] uf, o] 4 A

NEH? (BH 270)

filo

25

@)ma +mb = m(a +b)

@ a* +2ab + b* = (a+ b)?

® a*-2ab+ b* = (a-b)?

@)a? - b* = (a+b)(a-b)

® x>+ (a+b)x+ab=(x+a)(x+b)

B ~

3 3
—x82 - = x22
5 5
3 2 o2
=5><(8 -2%) > ax+ay=a(x+Yy)

X (84 2)(8=2) - a®—b = (a+b)(a-b)

ot W




18. x=2+2v5,y= vi- 12, - 4? o & Ffolet
B

| 2
> Hehl 16V3

B

¥ =4y =27 - (2)°
= (x+2y) (x-2y)
= (2+2V3+2v3-2) (2+2V3-2V3+2)

=43 x4
=16V3




19, x+9 < 2(x+3) 5 WESHe 5 1k 22 A4 xvof thste] o]y 4]
P tax+b=07t 2L 2 W, a+ b 9] FE FStolat,

cCh "
H -

>
|> HMeb: g

oH =

B ‘

x+9<2(x+3) 5 WEote s B 22 A4 x= 40t
et 4 7F 22 fax+b =0 9 TLO|BE
(x—4)?=x*+ax+b

a=-8,b=16

La+b=38




20. oA 22 4 5x—a =09 FZolx=1

Fotofet.
>

> ®™eth: =

ol
rH
o

222+ 5x—a=0 9| & o] 10|22
x =12 HYstd
24+5-a=0,a="7

2x2 +5x-7=0
2x+7)(x-1)=0

7
2

GE

rr

X =— x=1




X
of g 2 o, k o] g Fstolet.

?=8x+7 = 0 2] F 2o Fo| o|AMYT A 2x* ~5x42k = 0

2 -8x+7=0,x-1)(x-7)=0°B2 x=1%

T 29| gL 7olnE

rr

O|XPF A 2x% - 5x + 2k =0 o x = 7 S YA
98-35+2k=0, 2k = —63

wepA] ik - olet.




22, oA 252 +ax+4=0°] F
3x—a=0&&° (Ha>0)
> =
> E:

Tt O gL
|>o|:| X = 5_1_—,: 2.5
> dHe: x=—4

B

rd

25x2 +ax+4=0

(L):i, a _2
25 % 2 25" 50 5
a=20
2x*+3x-20=0
(2x-5)(x+4)=0

5

X 2 X




x=pE YA 2p? - 2p-1=0,2p>-2p=1°|BEZ

1

p’—p=3°l%

x=q¢E Yot 24> -2g-1=0,2¢°> -2g=1°]E2
1

9" -q =5 °It

whehA
(PP-p-1)(*-q+1) = (%—1>x(%+1)




24. oAU AAN 2 tdax+b=02 Zolx=2+2V3L4 0, a-0 9
e Tatolz

cCt "
H -

| 2
> A a-b=7

B \

x% +4dax+b =0 A

x2 4 dax = b

X2 + dax + 4a® = —b + 4a?

(x +2a)? = —b + 4a*

x4 2a=+Via® - b
sx=-2a+ Via® —b=2+2V3
w2bA a = -1, a gt HYsHA
Vi-b= 12

S.b=-8

et g - b =7 ot




25. 2< 5 -2x <4 E U= A x o S Aokl

> = i

> ®Heg o 127

B

2 < V5= 2x < 4 A
ZF & AlF55HH 4 < |5 - 2x] < 16

or2kAl, (1), (2) ©f st Ao x o e 12 ;Holﬁ}.




